
Reservedelstegning for BUH550RDE - HÆKKEKLIPPER 550 MM 36V LI-IONReservedelstegning for BUH550RDE - HÆKKEKLIPPER 550 MM 36V LI-IONReservedelstegning for BUH550RDE - HÆKKEKLIPPER 550 MM 36V LI-IONReservedelstegning for BUH550RDE - HÆKKEKLIPPER 550 MM 36V LI-ION

1



Reservedelstegning for BUH550RDE - HÆKKEKLIPPER 550 MM 36V LI-IONReservedelstegning for BUH550RDE - HÆKKEKLIPPER 550 MM 36V LI-IONReservedelstegning for BUH550RDE - HÆKKEKLIPPER 550 MM 36V LI-IONReservedelstegning for BUH550RDE - HÆKKEKLIPPER 550 MM 36V LI-ION

2

Nr. Reservedelsnr. Navn

1 265995-6 BLIKSKRUE 4x18###(266326-2)

2 452164-0 KNOB (BUH550)

3 891002-5 HINWEISSCHILD

4 452159-3 OMSKIFTER A (BUH550)

5 650635-3 AFBRYDER (BUH550)

6 188948-7 GREB (BUH550)

7 650636-1 AFBRYDER (BUH550)

8 346039-2 HALTEPLATTE

9 643849-1 KONTAKTPLATTE

10 271427-3 TANDHJUL 28 (BUH550)

11 255058-6 STIFT 2

12 233002-3 TRYKFJEDER 3 T221D

13 233138-8 TRYKFJEDER 6 (BUH550)

14 452162-4 LÅSEARM (BUH550)

15 452163-2 TRYKBØJLE (BUH550)

16 188948-7 GREB (BUH550)

17 265995-6 BLIKSKRUE 4x18###(266326-2)

18 868273-9 TYPENSCHILD BUH550

19 452145-4 KULDÆKSEL (BUB360)

20 643941-3 KULDÆKSEL (5621RD)

21 194928-3 KULSÆT CB-442

22 265995-6 BLIKSKRUE 4x18###(266326-2)

23 188950-0 HUS (BUH550)

24 265995-6 BLIKSKRUE 4x18###(266326-2)

25 643857-2 KULHOLDER A (BUH550)

26 643856-4 KULHOLDER B (BUH550)

27 631988-9 ELEKTRONIK (BUH550)

28 650635-3 AFBRYDER (BUH550)

29 188950-0 HUS (BUH550)

30 638020-0 PERMANENT MAGNET (BTD200SH)

31 211022-7 KUGLELEJE 607ZZ

32 519261-6 ANKER 36V (BUH550)

34 211062-5 KUGLELEJE###(211061-7)

35 140604-7 GEARHUS (BUH550)

36 265999-8 SKRUE M4X25###(266374-1)

37 452160-8 OMSKIFTER B (BUH550)

38 452158-5 FRONTGREB (BUH550)

39 452147-0 HÅNDBESKYTTER (BUH550)

40 265995-6 BLIKSKRUE 4x18###(266326-2)

41 443142-1 STAUBSCHUTZ

42 211032-4 BALL BEARING 608ZZ

43 253835-0 SKIVE 8

44 140536-8 GEAR KPL. (BUH550)

45 194671-4 KNIV 55cm KPL. (UH5580)

46 346325-1 PLADE (BUH550)

47 253835-0 SKIVE 8

48 211032-4 BALL BEARING 608ZZ

49 265182-7 SCHRAUBE M5x25



Reservedelstegning for BUH550RDE - HÆKKEKLIPPER 550 MM 36V LI-IONReservedelstegning for BUH550RDE - HÆKKEKLIPPER 550 MM 36V LI-IONReservedelstegning for BUH550RDE - HÆKKEKLIPPER 550 MM 36V LI-IONReservedelstegning for BUH550RDE - HÆKKEKLIPPER 550 MM 36V LI-ION

3

50 452156-9 DÆKSEL (BUH550)

51 911138-5 SKRUE M4x20


